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1.Which statement about the ‘accept that the customer doesn't need everything’ target is CORRECT? 
A. It is achieved by testing only a few features to deliver on time 
B. It is achieved by ensuring that the operational product has complete documentation 
C. It is based on the concept that people generally use a limited number of product features 
D. It enables a more accurate final product to be produced 
Answer: C 
 
2.Which statement about the ‘keep teams stable’ target is CORRECT? 
A. It applies primarily to the long term, such as a project or a program 
B. It is the primary reason why the tolerance for cost is set to zero 
C. It prevents compromising the overall quality level of the product 
D. It results in the early delivery of a minimum viable product 
Answer: B 
Explanation: 
Reference: 
https://publications.axelos.com/prince2agile2016/content.aspx?showNav=true&expandNav=true&page=
PRA_41 
 
3.Which statement describes how the PRINCE2 ‘starting up a project’ process can be applied in an agile 
environment? 
A. PRINCE2 is predictive, but not emergent 
B. PRINCE2 is predictive and can be emergent 
C. PRINCE2 requires a lengthy start to a project 
D. PRINCE2 requires a disruptive start to a project 
Answer: B 
 
4.Which TWO statements describe a purpose of the business case? 
1) To define the acceptance criteria for what the project must deliver. 
2) To transfer responsibility for the work to the appropriate delivery team. 
3) To document how significant risks will affect the expected project benefits. 
4) To outline how and when the anticipated benefits can be measured. 
A. 1 and 2 
B. 2 and 3 
C. 3 and 4 
D. 1 and 4 
Answer: C 
 
5.Which is a key objective of running a workshop? 
A. To make daily progress visible to the delivery team and key stakeholders 
B. To encourage collaboration and create the defined outputs from the event 
C. To communicate decisions to the wider stakeholder community 
D. To make day-to-day decisions on behalf of the delivery team within a sprint 
Answer: B 
Explanation: 
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Reference: https://publications.axelos.com/PRINCE2Agile2016/content.aspx?page=pra_166&showNa 
v=true&expandNav=true 
 
 


